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ECONOMICS
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Under Cournot Model of Duopoly,
each duopolist will produce

(A) half the output

(B) one-fourth of the output

(C) one-sixth of the output

(D) one-third of the total output

As long as the substitution effect
dominates the income effect, the
labour supply curve is

(A) negatively sloped

(B) positively sloped

(C) bend backward

(D) shifting towards left

The distinguishing characteristics of

monopolistic competition are

L. Product differentiation

II.  Non-price competition

III. Large number of firms and
freedom to entry and exit

IV. Firms are interdependent

Codes :

(A) 1& I are correct.

(B) I, Il and IV are correct.

(C) 1 II and III are correct.

(D) L Il and IV are correct.

Assertion (A) : Monopoly is Pareto
inefficient.

Reason (R) : It would be possible to
change the allocation of
resources to make the amount
of income he would be
prepared to pay in exchange of
the reduction in price.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) (A) is correct, but (R) is not
correct.

(C) Both (A) and (R) are correct,
but (R) is incorrect explanation
of (A).

(D) (R) 1is correct, but (A) is
incorrect.
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If MP,/MP, does not change with

any proportionate change in labour
and capital then the production
function is

(A) Linear

(B) Non-linear

(C) Homogeneous

(D) Homothetic

Match the items in the List — I with
items in List — II. Select the correct
answer from the code given below :

List—1 List — 11
I. Agency 1. O.E. Williamson
Theory of
Firm
II. X- 2. M.C. Jensen and

inefficiency W.J. Meckling
III. The Utility 3. Wilfredo Pareto
Maximisation

Model

IV.Edgeworth 4. Harvey
box diagram Leibenstein
first used by

Codes :

I 1 1 1Iv

(A) 3 2 1 4

B 2 4 1 3

<o 2 3 4 1

(b)) 3 4 1 2

At the point of tangency between
short- run average total cost and long-
run average cost, the short-run
marginal cost

(A) greater than long-run marginal

cost

(B) less than long-run marginal
cost

(C) is far above long-run marginal
cost

(D) equals long-run marginal cost
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10.

11.

The equilibrium in a market is
incomplete with increasing returns to
scale only in the case of

(A) imperfectly competitive market
(B) monopolistic market

(C) perfectly competitive market
(D) none of the above

If 1 = Involuntary unemployment;
2 = Disguised unemployment;
3 = Frictional unemployment; and
4 = Structural unemployment, then
full employment is consistent with
(A) 1&2 B) 2&3

(C) 3&4 (D) 1&4

In Keynes’ equation of absolute

income hypothesis, C = o, + by,

where C = Consumption expenditure;

a,, = Consumption expenditure when

income (y) is zero; and b = Marginal

Propensity to Consume (MPC), then

which of the following statements is

false ?

(A) MPC is independent of the
level of income.

(B) MPC is dependent on the level
of income.

(C) APC falls as income rises.

(D) APC > MPC.

Which of the following statements is

false ?

(A) The balanced budget multiplier
is unity when taxes are lump
sum taxes.

(B) The balanced budget multiplier
is less than unity when taxes
are ad valorem taxes.

(C) Tax multiplier is less than

government expenditure
multiplier.

(D) Tax multiplier is more than
government expenditure
multiplier.
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12.

13.

14.

Match  the theory/criterion of
investment determination as given
below in List — II with their
propounders given below in List — 1 :

List -1 List —II
I. Dale a. Q-Theory
Jorgenson
II. JM. Keynes b. Neo-classical
Theory
III. James Cohin c¢. Accelerator
Theory
IV.James Clark d. Present Value
Criterion
Codes :
I Im 1 1v
(A) a d b c
B) b d a c
<) ¢ d a b
D) ¢ a d b

Assertion (A) : In liquidity trap, the
demand for money is perfectly
interest elastic.

Reason (R) Because in this
situation, all the investors
expect the market rate of
interest to rise towards the
natural rate of interest.

Codes :

(A) (A) and (R) both are correct
and (R) is the correct
explanation of (A).

(B) (A) and (R) both are correct,
but (R) is not the correct
explanation of (A).

(C) (A) is correct, but (R) is
incorrect.

(D) Both (A) and (R) are incorrect.

The rate of net investment spending

per time period depends on steepness

of the downword slope of

(A) Marginal efficiency of
Investment Schedule

(B) Marginal efficiency of Capital
Schedule

(C) LM-Schedule

(D) IS-Schedule
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10.

11.

IO % FEEE Ufawe & 91 SR
Gaor (e el o oTeRT & 9

(A) STUITET HfTETeE SR

(B) TUSHIHRI TR

(C) YoTaan ey SR

(D) W | ¥ HE &l

g | = ST SR,
229%'_—[@'{3311'“'{%;

3 = WEUSTHT SRISTRY; 3T

4 = GIFATCHS ISR €, al g ISR
fr=fefad @ Qs T@ar €

(A) 132 (B) 233
(C) 334 (D) 134

FT o FRUT 3T WSR3 FHIEHIT,
C = a, + by # &l C = 3T4m
T, o, = ST FT S AT (y) A
g 3R b = IUAM W GHER v
(MPC) 8, o fr=fafad & & &= @
e e 7 2

(A) MPC 3T & TR I @A ¢ |
(B) MPC 39 % TR T T & |
(C) 3T % dgd W APC fRaT & |
(D) APC >MPC

frfeafaa et 4 @ & a1 e € 2
(A) ST H THYTT Y &, TfeTd soic
T TS & SRR &Il € |
(B) ST &Y T H T, Tferd oSt
TOTh THTE W HH BT ¥ |
(C) o T WHR FF T[0Tk F HH

BAE |
(D) X T WEHRT T 0T I ART
FAE |
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12.

13.

14.

A — 119 53 fFaer famor & amde /
fogia =t gt — [ # 53 377 wfqumeest
% T GAfeTd T

T -1 = - 10
I SasiFa  a. Q-fasi
II. SUA. HF b, To-FeAGen (G5
111. 57 e c. TR g
VS & d. adqE 9F/ge
IS
E T4
I I 1T IV
(A) a d b c
(B) b d a c
©) ¢ d a b
D) ¢ a d b

AMMHT  (A) : T H H, qIT B
HT quica <t A gt § 1

HRUT (R) : Fih 3@ feafq o, @
TereTehT 3TUeT e € T =T =t
ISR I AT Sl UTHTds 3T i
A T |

ETE

(A) (A) 3R (R) I W&l & 3R (R),
(A) =l & =R E |

(B) (A) 3R (R) FHI Wl & =] (R),
(A) =i T AT TET 7 |

(C) (A)WEE < (R) A& |

(D) (A) 3R (R) I TeAd & |

FHAEY ER Haet e == &t T
ffafad @l STE @ g™ st JauTd
W et €

(A) TFerer 3TIge @ Fmr &
(B) ST T St WA= &7

(C) LM-rgesit

(D) IS-Zrggsit
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15.

16.

17.

18.

19.

Which of the following is not

specifically =~ mentioned as a

determinant of the demand for

money ?

(A) Wealth

(B) Nominal yield on alternative
assets

(C) Inflation rate
(D) Real rate of interest

Whose model of the following
economists makes use of the stock
adjustment principle to explain
business cycles ?

(A) N.Kaldor

(B) J.R. Hicks

(C) P. Samuelson

(D) J.M. Keynes

The concept of vicious circle of
poverty is associated with

(A) J.M. Keynes

(B) Ragner Nurkse

(C) Karl Marx

(D) J.S.Mill

Inverted ‘U’  shaped income
distribution hypothesis is associated
with

(A) J.B. Clark

(B) David Ricardo

(C) Simon Kuznets

(D) Adam Smith

Components of HDI are

L. Longevity

II.  Infant mortality

III. Educational attainment
IV. Decent standard of living
Codes :

(A) 1, II and III are correct.
(B) II, T and IV are correct.
(C) 1II,1, and IV are correct.
(D) L Il and IV are correct.
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20.

21.

22,

Arrange the proponents of classical
theory of development in a sequential
order :

I.  David Ricardo

II. Adam Smith

1. J.S. Mill
IV. Robert Malthus
Codes :

(A) T IV I 1
B) IV I 1 1
© M I IV I
M) 1 1 I 1V

Assertion (A) : In Marxian scheme
of things, M — C — M', where
M'> M and M' — M is surplus
value.

Reason (R) : The main cause of this
surplus value is raw materials,
machines, etc.

Codes :

(A) (A) is wrong but (R) is correct.

(B) (A) is correct but (R) is wrong.

(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are wrong.

Match the items in the List — I with
items in List —1II :

List—1I List —1I
I.  Structural view of 1. Classical
Underdevelopment Economists
I. Laissez-faire Policy 2. Hollis
Chenery
II1. Departmental 3. Steady State
Scheme of Growth
Expanded
Reproduction
IV. Golden Age of 4. Karl Marx
Accumulation
Codes :
I o mar Iv
(A 2 1 4 3
B) 4 2 3 1
<o 1 4 2 3
(D) 3 4 1 2
J-01-13



15.

16.

17.

18.

19.

T & AT &% HuRE & w9 ° fHae

fafere w7 T Sooig & T T g 2

(A) FHT

(B) dfcass UR@mfal W ATHHE
Al

(C) TSTERIT &t 3T

(D) <& Ff aTdteh &%

MR h1 & AT FH & AT
frfefea @ 9 f5a erwmet 3 Wi
TS g 1 SUAT 6 & 2

(A) TH. FeeR

(B) .3, fes

(C) I, Jgera

(D) ST &9

e & goHE B STFURUT TR
Tt € 2

(A) SIUH HH

(B) TR -y

(C) hreT TRt

(D) SiuE. e

3t U SRR (AT MHR o) 3T
TereRoT Ui fohad Tt € 2
(A) St T

(B) <fae Repret

(C) WrEw ey

(D) ueH &y

TT.E1.37E. (HDI) % T &
I 3y

I fore] gegX

I Sifereh Suctfey

IV. TfEd S &)

E T4

(A) LIUATMTEE |
(B) ILIIRIVET |
(C) ILLRIVTE |
(D) L II3RIVEE |
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20.

21.

22,

T & Fentaent fagTa & H=fafad
AfcITEeht St ST hH H AT Y :
L fae femen

II. uew i@y

. Suq. o

V. e Aeg

E T

A) II IV Im I

B) IV I 1 1

(C m 1 v 1

M) I I U 1V

AWFTT  (A) : ARER! AT H,
M- C—> Mg &M >M
AXM' — M ARE G € |

FHFRUT (R) : T 3Rb Jod & &
SHROT el /e, FYH Sea1e ¢ |

E T4

(A) (A) T &, T (R) W&l & |

(B) (A) W& ¢, W= (R) ToTa € |

(C) (A) 3R (R) I LI T |

(D) (A) 3R (R) I T & |

GE-1 St GElt-11 % a1 gaferd &
= -1 =t - 11
I 3Teafaed & 1. STt
AT gieeehioT GENIe|
[I. WA= aANR A 2. gifed fod
I1I. foeiid gAsScas 3.
St formTer AT TTHE
foera

IV. T 6 @0 T 4. et Ao
T

(=N

I I 1 IV
A 2 1 4 3
B) 4 2 3 1
@ 1 4 2 3
M 3 4 1 2
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23. Match the items in the List — I with

24,

25.

26.

items in List—1II :
List -1 List — 11
I.  Critical Minimum 1. R.F. Kahn
Effort Thesis

II. Knife-edge 2. Rosentein-
Equilibrium Rodan

III. Bastard Golden 3. Leibenstein
Age

IV. Big Push Theory 4. Harrod
Codes :

I I m IV
A) 3 4 1 2
@) 1 3 4 2
@ 2 1 3 4
M 4 2 1 3

Which years in India have been the
best and the worst in terms of growth
rate of national income ?

(A) 2007-08 and 1997-98

(B) 2006-07 and 1966-67

(C) 1988-89 and 1979-80

(D) 2003-04 and 1957-58

Rank the States in ascending order of
the crude birth rate in the recent
years :

I. Andhra Pradesh

II. Karnataka

III. Madhya Pradesh

IV. Uttar Pradesh

Codes :

(A) LILILIV

B) ILILLIV

©) LILIV,II

(D) ILIL IV,

Which five year plan of India has
recorded the largest gap in terms of
growth rate between the services
sector and the industrial sector ?

(A) Seventh Plan

(B) Eighth Plan

(C) Ninth Plan

(D) Tenth Plan

Paper-11

27.

28.

29.

30.

31.

Provide the correct answer about the
desired growth target of the
manufacturing sector in the medium
term as per the  National
Manufacturing Policy of India.

(A) 6—8percent

(B) 8—10 percent

(C) 10— 12 percent

(D) 12— 14 percent

Which of the following countries
have better Human Development
Index (HDI) as per the HDR 2011 ?
L. Sri Lanka

II.  Pakistan

III.  Kenya
IV. Egypt
Codes :

(A) Sri Lanka and Egypt
(B) Sri Lanka and Kenya
(C) Pakistan and Sri Lanka
(D) Pakistan and Kenya

What was the amount of outlay under
MGNREGA in 2011-12 by the
Government of India ?

(A) 25,000 crore

(B) 30,000 crore

(C) 40,000 crore

(D) 55,000 crore

Provide correct answer about the
share of India in the world
merchandize exports in 2010 :

(A) 0.5 percent

(B) 0.9 percent

(C) 1.1 percent

(D) 1.5 percent

If the cost of transporting a goods
between two nations exceeds the
pretrade difference for the goods
between two nations, then trade in
that goods is

(A) possible (B)
(C) reversal

impossible
(D) cannot say

J-01-13



23. A1 S G-I % T GAfAT W

24.

25.

26.

= -1 = - 11
[. i< (Critical) 1. 3R.UE.
=AaH yare e e
1. A G- FeT 2. ISR
e
3. WA

I11. 38 o T

(T e T)
IV. USeT gaehl g
R-

- .

4. 8ls

P
!

I

P

I

e

L»J-lk[\)[\)<

I
(A) 3
B) 1
<€ 2
(D) 4

IRA § LT 3T P Hgfg &l T H
T H B T 99 99 HAR e T
g9

(A) 2007-08 3T 1997-98

(B) 2006-07 31X 1966-67

(C) 1988-89 3fi¥ 1979-80

(D) 2003-04 31X 1957-58

N = W A
Y B SN

oA B % ol § IfEitad S ST %
RIS HH | AT sl AU Y
[ YWY

. wARH

[II. TeF UeeT

V. SRR

E T

(A) LI 1L IV

(B) ILILILIV

(C) L1IL,1V,III

(D) IL LIV, III

IRA g daauia ST § ggfy 5T
% G H G & T e & &
T Y TS 3T g7 TohaT T ?
(A) et FSET

(B) e A

(C) et g

(D) @S I
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27.

28.

29.

30.

31.

TRA & AL faHEoeR AT &
TR AT &3 o Heashioreh 3T
(fesTere) fosma &g & IR § W&l S
T Y

(A) 6 — 8 ufaerd

(B) 8 — 10 v

(C) 10— 12 Tt

(D) 12— 14 wfaema

T IR, 2011 % AR AT T
gashish (HDI) f=fatea o 9 5 391
T TedW & ?

I il

II. iR

1. =

V. m&

E T4

(A) et 3R &

(B) siiciet 3R =

(C) UIRHFEA 31T i

(D) TIhEAM 3T e

IRA & WHR FR a9 2011-12 |
MGNREGA (THSIUA.RISNT) &
AT IReTT B AT =T o 2

(A) 25,000 FTS

(B) 30,000 s

(C) 40,000 g

(D) % 55,000 FS

a9 2010 U fava =amMRes Famar § 9YRd
% ol & R H Hel ST IS

(A) 0.5uaea (B) 0.9 wiaem
(C) llufgea (D) 1.5 wfaeE

I 3T 390 & g I A ST Bl AR
AN &1 39 & S a&qe & qd oed
3R ¥ Afy® el € O 39 I H
A

(A) T € |

(B) wifed ¥ |

(C) wiqadm & |

(D) e &l whar |
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32.

33.

34.

According to the Rybczynski
theorem, the growth of only one
factor at constant relative commodity
prices, leads to an absolute expansion
in the output of

(A) both commodities

(B) the commodity wusing the
growing factor intensively

©

the commodity using the non-
growing factor intensively

(D)

any of the above

The exchange rate is kept the same in
all parts of the market by

(A)
(B) interest arbitrage
(C) hedging

(D)

exchange arbitrage

speculation

Which are relevant conditions
assumed by the factor price
equalization theorem ?

I. The countries are characterised
by different factor endowments.

II.  The countries are characterised
by different production
functions.

III. The industries are characterised
by different factor intensities.

IV. Each country will export the
commodity which wuses its

abundant  factor relatively
intensively.

Codes :

(A) LILIIL IV

B) LILIV

©) LI, IV

(D) LILII
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3S.

36.

37.

Which of the following is true with
respect to the monetary approach to
the balance of payments ?

(A) It views the balance of

payments as an essentially
monetary phenomenon.

(B) A balance of payments deficit
results from an excess demand
of money in the nation.

(C) A balance of payments surplus
results from an excess supply

of money.

(D) Balance of payments
disequilibrium are not
automatically corrected in the
long run.

When a nation imposes an import
tariff, the nation’s offer curve will

(A) shift away from the axis
measuring its export
commodity.

(B) shift away from the axis

measuring its import commodity.

(C) not shift.
(D)

any of the above is possible.

If the international terms of trade
settle at a level that is between each
country’s opportunity cost then

(A) there is no basis for gainful

trade for either country.
(B) both countries gain from trade.

(C) only one country gains from
trade.

(D)

one country gains and the other
country loses from trade.
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32.

33.

34.

Rafaen g & FER, fer |

T HIFA W 9% T SR FEfrad

&% IR H QU7 foRadR &t 3T Tgd et

T

(A) =T T

(B) FEgHt HRH H T ®I I
UGN T Tl T

(C) NIEHRI FREF H T & &
SUFNT T ATl ]

(D) SUgH | 9 HiT TH

TR & T 9§ faf e X o fhaes
ST TShTHAT &M STl g9

(A) Taftwe foarem
(B) &N faam=q
(C) &R
(D) Hgesit

S HIHT FHBN THI G bt 31t ot

Ve T T & 2

I 9 UM UASSHI™ S i
oo & |

[I. T SR el S0 o famoar
T

. = 9 9eadid Samm o
fogioar & |
IV. U o0 3 &) & M Ham

S ST UER |IEH S oS
TG G a1 § ST HAT |

(A) LILIIL IV
(B) LI IV
(C) LILIV
(D) LIILII
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36.

37.

YA TIe & Hiseh SUTH o T8y

7 Frfefad § | S 91 9 § 2

(A) T& TIaH T<ed &l AaErEd:
Hifgeh 5 & &0 H @A ¢ |

(B) TN HeH H =T T § 5T
HAaNET | % FoT@r®d Bl
T

(C) & Pram dqem TET &
faferm 2gfd & HROT T & |

(D) I Tqe H ST ST
T e €9 ¥ 3 Té el ¢ |

e T AT Yok o &, d T
S Tk KT I 2

(A) %1 ST T9aTd g 1 AT HaT ©
Y X Taqes S |

(B) %7 S AT o] T WY AT &
Y X Taqes S |

(C) &I famahm |
(D) SUgF § F HiE A Guifead ¢ |

I SR ® TR I 39 TR T
T Bl & S U I H ST AN
% S el & @l

(A) TR ot 39 % o AR =R
T T YN &1 & |

(B) Tl ST H AMK F T @l
T |

(C) act U 3T I AT ¢ |

(D) U 1 & AR F o9 8l ¢
3T T 397 T @0 |
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38.

39.

Arrange the following in

chronological order :

L. The Indirect Tax Enquiry
Committee (Jha Committee)

II. Tax Reforms  Committee
(Chelliah Committee)

III. Taxation Enquiry Commission
(Matthur Commission)

IV. The Direct Enquiry
Committee (Wanchoo Committee)

Codes :

(A) NILILIV,I
(B) HOLLIV,II
©) ILIOL LIV
(D) 0L IV, L1I

Tax

Which of the following are relevant
in Zero Base Budgeting ?

L. Each item of expenditure is
challenged in  pre-budget
review.

II. No minimum level of

expenditure is allowed to be
taken as given.

III. Expenditure of each item is
increased marginally.

IV. Most item of expenditure is
taken for granted when budget
is prepared for the next year.

Codes :

(A) IandIII are correct.
(B) I, Il and IV are correct.
(C) Tand Il are correct.

(D) I, I and IV are correct.
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40.

41.

42.

Match the items given in List — I with
those in List —II :

List—1 List — 11

I. Optimal 1. Charles Tiebout
Income
Taxation

II. An Economic 2. Peter A. Phyrr
Theory of
Politics

III. Local Public 3. F. Ramsey
Goods

IV.Zero Base 4. Anthony Downs
Budgeting

Codes :

I n mr 1Iv

A 3 1 4 2

B) 2 3 1 4

< 3 2 1 4

Dby 3 4 1 2

Which of the following is tantamount
to absence of taxation ?

(A) Shifting of the tax
(B) Tax transformation
(C) Evasion of tax

(D) Tax capitalisation

Which of the following tax is within

the jurisdiction of States as

enumerated in List — II of the

Schedule VII of the Constitution of

India ?

(A) Taxes on Railway freights and
fares.

(B) Taxes on sale and purchase of
newspapers and on
advertisement therein.

(C) Rate of stamp duty in respect
of certain financial documents.

(D) Taxes on luxuries, including
entertainments, betting and
gambling.
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38.

39.

frAfafad & FemTheES wH "
AT FY

[ 3TVcaeT e Sirg QrEfd (31 |iEfd)
II. o guR Fmfq (=ern gt
1. e S ST (TR 37

IV. Wcael &Y S |iHd (3 arar)
FT:

(A) ILILIV,I

(B) ML LIV,II

(C) ILIL LIV

(D) LIV, 11

I Tl § FEEd # F 9
TR & 2
I =8 & &% A5 H I-aNe

GRS § A &1 STl € |

. =@ % o off a9« & w8
A & 1 ST TE 8 |
[[I. Y% A & =& &l eV W a1

HeTT=Teh ghg Sl S & |

V. S 37Tt 99 &l oo dar fear
ST € 4T W ATUhIY HaT

e HH fordl STt € |

(A) 1RNITET |
(B) LIIRIVTHE |
(C) I3ARUTT |
(D) LIISRIVEE |

40. A1 H 3 w81 B GA-IL | TSI F AT

41.

42.

goferd &

et -1 = - 11
[. T=aH 3™ & 1. 9 feat
I1. THIT 1 3Mferss 2. WX U URR
g
I = ofish a&qd 3. T, I8
V.3 R &5fe 4. T S
BT :

1 m I1a 1v
A) 3 1 4 2
B 2 3 1 4
@© 3 2 1 4
@ 3 4 1 2
frafafad & & &9 @ U= @
U &% o & 2
(A) R H foaeem

(B) & S TUROT
(C) o 3ga=d

(D) T HT YSIIHR0T

frafafad & @ =9 @ W T H
FAYeR H UEar € S fE aRaE
fee= & SEgEt VI @ G-Il |
T & 2

(A) T A 9 SR AR e W
T

(B) THERYA & foaehl Ud TRig IR
ITH ORI W)

(C) Fo fodim sEmEst & =y o
W 3[6h i 3T

(D) THERSH, S0 (GFH) R SeT
T FH foreaarstt 0 &




43.

44.

45.

46.

47.

Cohin Clark has argued that for most
countries of the world, the safe upper
limit of taxation is

(A) 40 percent of national income
(B) 30 percent of national income
(C) 25 percent of national income
(D) 20 percent of national income

Which of the following tax can be

shifted easily ?

(A) Lump-sum tax imposed on the
monopolist

(B) Tax imposed on residential
house

(C) Capital goods meant for sale

(D) Succession duty

In a binomial distribution, the sum of
mean and variance is 15 and the
product of mean and variance is 54,
then the number of observations (n)
is equal to
(A) 27

(C) 24

(B) 30
(D) 33

If ‘r’ is the correlation coefficient and
byx and bxy are the regression
coefficients of the regression lines y
on x and x on y respectively, then r =

(A) bxy x byx
(B) +/bxy/byx
(C) A/1-bxybyx
(D) ~/bxy byx

%2 (chi-square) test is used to test

(A) analysis of variance

(B) association between the
qualitative variables

(C) difference between means of
two distributions drawn from
the same population.

(D) difference between the means
of two distributions drawn
from different population.

48.

49.

50.
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Random sampling implies that

(A) the observations are selected
purposively.

(B) the observations are selected in
a systemic manner.

(C) the observations are selected in
an adhoc manner.

(D) the observations are selected in
clusters.

Given the following information,
match the item in List — I with
List—1I:

List -1 List —II
I Coefficientof 1. 4/04
Variation
II. Coefficientof 2. H3/03
Correlation
III. Coefficient of 3 o/
Skewness
IV.Coefficientof 4. Yxy /o, o,
Kurtosis
Codes :
I I II 1Iv
(A 1 2 3 4
B) 3 2 4 1
<) 3 4 2 1
D) 3 4 1 2

Assertion (A) : Fisher’s index is an
ideal index.

Reasoning (R) : Fisher’s index
satisfies Time Reversal and
Factor Reversal Tests.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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43.

44.

45.

46.

47.

Hled FAH A @ B fw fave &
STMHIST S o ToT0 e FRfeTd
Eenbisitik

(A) T 3T FH 40 AT

(B) I 3T I 30 U

(C) T 3T T 25 Hawrd

(D) T 3T HT 20 AT

frfafed & 9 9 @ T A9 9
TR fohar ST Eehel & 2

(A) USMYHRT T AT T THHT
T

(B)  STETER™ T U AT T
(C) fosnt g TS oy
(D) ITRIMYHR a4 I[esh

fguda s 1, "re 3T uor 1 A 15
¢ 3T AT 3R FEIT T OAESA 54 F,
T WeTuTt bt T (n) Teoher 2t 2
(A) 27 (B) 30
© 24 (D) 33

aﬁ‘r’WW%i‘ﬁTbny
bxy TfASEOT @S x Wy 3Ry W x
ST TTAS=I0T T[T &, & r SRIeR & :
(A) bxy x byx

(B) +/bxy/byx

(C) A/1-bxybyx

(D) +/bxy byx

y2 (FTE SEE) THeToT S w adieror
T & fo1d STFIT fohar ST € 2

(A) TEROT =T fagerdor

(B) TN =R % S HEwd

(C) U & ¥y ¥ fow M 3 s
TRl % AT & S SR

(D) To=1 wmm | ford T §1 e et
& O & S 3R

48.

49.

50.
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i uidaa 1 3 €

(A) TRIUT T T LT & 9@ {ohAT
e |

(B) VeIl I AT &1 § wafd
g |

(C) W&ol &1 waT 799 o1 ¥ fopan
g1

(D) T ol TEST § = [T ¢ |

G- 6t Galt-11 3 |1 GHTerd e
= -1 = - 11
L faRo s /et

II. T 06 2, /o

IRCEEGIERIMIED

3. 0/x
IV . Feirad (STSheT- 4. 2xy/o, o,
HAT) I T[T

E T

I m 1 1v
A 1 2 3 4
B) 3 2 4 1
© 3 4 2 1
M 3 4 1 2

At (A) : TR &1 efiges
YT ATGEH ¢ |

HROT (R) : R &1 gash 99d
faome qen SuRH fauare u)ieTon
G FATE |

(A) (A) 3R (R) HI 9 € 3R (R),
(A) =l & =T T |

(B) (A) 3R (R) IAT ¥ & W
(R), (A) =l & =0T & € |

(C) (A)TFE, W (R) AT |
(D) (A)3WIE, W (R)TAE |
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